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(2) F(x,1) = g(z) (z € X).
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nO0O0000 D000 {0}00000000O00O0ODOOOOOOf :: D" —
{0}; 200 f: {0} > D"; 0000000000 f,/00000f0f =1y
goog
F(z,t) =tz ((x,t) € D" x[0,1])

00000000 F:D'"x[0,1] - {0}000000
F(x,0)=0=f"o f(x), F(x,1)=2=1pn(2)

0000 fof01p.00000000O0DOODOOOOOODODODO{0}OODO
ggbooboboogd
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0000ze S0 ¢x)cdMOIODO0O0O0ODOOOOOOO0O0 MUBFODO
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00 2215 fOODOO0 MOOOOOOOOpO fOOD0 NOODOOOOOOO
O0f(p)=c000000e>00000 f[c—ec+€)00000ODOOOOp
o000 0000000000000 DO00O0bOO0O00bOO0ODOOe>00D0
00 MeteO Me<0 prO0000000O0O0OOOO MecuB*0000000O0
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2.3 Smalell [

ob 231 000 MDOOO0DDODODO XOVYO
reXNY=>TX+T.Y=TM

0000000 XOyYyUOUoooooooooooxamyYOOoOODOODODOOOOO
gobooboooobobobooooboboon

00 232000 MOOODODOOODXOYoOOooooooooooXnyo M
gboooboobooobooooboon

T(XNY)=T,XNT,Y (zeXNY),
dim(X NY) =dim X + dim Y — dim M.

00 2330000000000 MorseOO fO00OD00ODOODOODO Smale
gogobbbobbbooooooboboboobbbooooooobbobobougd
gogbooood

gobbbuoooobbbooogoboboooooboboooobobobod
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goboboooogbon

(1) 00000 «0000 W¥a)hWe(a)DDODO

(2) 000 «0b0000 f(o) < f()0000Wa)NWH(b)=0000000
00 W*e)O W(b)OODODOOO0O0O

OO0 00000O00DO0ODO0OO0OMOO MorseD fO0OD00OeDODODO
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0000000000 (W (a)—{a})N(W*(a)—{a}) =00 000OW*(a)nW(a) =
{a}000000e«0000

T.(W*(a)) + Toa(W*(a)) = Vi + Vo = T,M
0000Ws(e)D Wue)DOOOODODODOOOOOO
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(2) M(a,b)0 MOOOOOODOOOO
Mia) = {aear | tim (o) =a (o) =0},
dim(M(a, b)) = Ind(a) — Ind(b)
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(3) XOOOODO MOODOOOOOO ¢,0 M(e,))DODODOOOOOOOOOO
gogooo

(4) ¢,0 M(a,p) 00000000000 £L(a,b)00000£L(a,b)0 «00 b0
0 X0O0O0D0O00O0O0000000000000000000
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000000000L(e,b) 000000000

ooo000 (1) 002340 (2)0000O
(2) W(a)O W*(b) 00000
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O0000Smale000000WU (@)D W) 0DOO0O000000 23200
M(a,b)=Wa)NW*(b) 0 MODOOOOOOOO

dim W"(a) + dim W*(b) = n + dim(W*"(a) N W?(b))
0000000000 dimW*a) = Ind(a) 0 dimW*(b) =n—Ind(p) 000000
Ind(a) — Ind(b) = dim(W"(a) N W?(b)) = dim(M (a, b))

0000 dim(M(a,b)) > 1000 Ind(a) > Ind() D0 D O

00 23.6 000000000 MorseOO fOODOOODO MorseODOODOO
gobbbuogboooobbboooobboboooobbobuooan



24 20140 70 80
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[1 30 Morsell L]

gooooooboobooboboooMOobooooooOoD fO MOO Morse
o0o00obOoObO0o0o0ob0ob0OO0ooOOobOobObO0obO0bOO0D XO fOoo0OooDOoDO
Ob00D0DOSmale0 0 O0D0OOO0OOO0O0OODOODODODOOODOODODODOOO
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3.1 Morsell[]

MorseOO fO00O0O0OD0OO«O0OOD0O0ODOODOOOOOOODOODO

Lab)= | Lla,c) x Llcr,ea) x -+ x L{cgo1,b)
¢; €Crit(f)
0000000 235000f(¢) < fle) 0000 L(eiyer) =00000 f(e;) >
f(ciy)) 0000 Ind(e;) > Ind(c;4,) 0000000000000
00 3.1.1 L(e,b) 000000 OOODO
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oooooo
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k0000000 Crity(f)0000Crit,(f) 00000 Z, 000000000
C(F)DDDO0f00D0000000XO00000 dx : Cu(f) = Coa(f) DD
0D00000a€ Crity(f)0000 0x(e) 000000000000 3.1.2000
be Crit, 1(f/)0000 L(a, ) 00000000000#L(a,b) =#L(a,b) OO
000 Z, 000 nx(a,d) 0000000000
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0000 0x(e)00000
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(Cu(f),0x)0 MOO Morse 0000000000000 XOOOOO Morse
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0000 imdy Ckerdxy 000000000000000000000
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00000000000H(,X)D0000 (Cu(f),0x) 0000000000
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3.2 Morsell 0

0 3.2.1 nO00D
S"={z e R" | |z] =1}

goooog
flz1, .o xna1) = 2 ((T1,.. ., pgq) € S™)
ooooofOoO0OOO
n=0,...,0,1), s=(0,...,0,~1)

goboooobooooboboooobooooooobogfo S*"00 Morse
O00000Ind(n)=n,Ind(s)=00000

Co(f) = Zan, Colf) = Zos, Cip(f) ={0} (I<k<n-1)

ooooboofOob00boboOobOobooobOooboOobDOn>2000000000O0
gobboobooooboobod
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n=10000L(n,s)00000000008:C(f)—= C(f)0 0000000
000000D0000000000 00000000000
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0 3.22 00000 RPOnO0000S"O0000000C000 7:58"—=RP*O
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O00000000R™ 00000000 (xo,21,...,2,) 0000R™ 000
0 f0O
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00000000f000002z——x0000000000RP"000000
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0D Uf0000000000000UFf0000 S"00000000000U+0
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O00000f0000000000pf 0000000000
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D000D000000000000f0S"00 MorseDOODOOODOOO UXDO
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goooooo
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O f0MorseJOODODOOO MorseDOOOOOO fOD0ODODODO —1
o

0
— = Wi —— + -+ 2y, —.
0Yi—1 erlayz‘+1 Y OYn

gooooooboooboobooobg o g

0
—gradf = 2yor— + -+ 2y
o

ou(y) = (€Yo, ..., e yi1, e My, e yn)
ooooooodd 00000

gbt( ) (6 Ty ey 62t1'i_1’ G_Qt'ri—i—l; ;G_Qtﬂjn)

000000000000 f000000000X0p 000 VCcUuf0oo0
0 f0Morse 000000000000000 -1000000000

WepH)NVE={(0,...,0,251,...,7,) € ViF}
={(0,...,0, 24, wi41,...,1,) € S"}NVE
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alalaln
W ps) ={ps}t, Wpy)={p;} (0ODOD)
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00<i<nOO000O
Cz(f) = Zyr(pj)
oooooo
o(r(p;") = m(pi_1) + m(pisy) = 27(p;"y) = 0.

gobood

0323Ct'00100000000000R000000000000CP™
ooooc*! —-{0}00 00000000 100000000 Cz0 CP*O
gobooboooon
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godo
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ooooouo0cpr0oogooonon

cr=Ju;
1=0
oooooog,ooon
we(m(2)) =2 (0<k <n)
Zi
o000 w 000000
(Woy -« v oy Wy ooy W)

0U,000000,00000000000CPO00000w;=100000
00000000000000000
crtl—{0}0000 f0

ZZ—ok‘ZkP 1
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ob0 fO0b0ob0o0oooooDoboboboobog;, 0bogobD fobObOOODO

_ 2o klwi[? _ i+ Zk;éik|wk|2
ZZ:O ‘wk|2 1+ Zk# |wk|2

oooou,00b0 fO0D0b0w=0000000000DO CPrOODO

() f(r(2)) = f(m(w))

pi =m(0,...,0,1,0,...,0)

ooodp00000ob0 fODODODOOOOOODO

(x) = <i+2k|wk|2> 1= el + <Z|wk|2>2_...

ki ki ki

=i+ Y klup*—i) |w[>+(400000)
ki ki

=i+ Y (k—i)|w/>+(400000)
ki

=i— Y (i—k)w+> (k—i)|w*+@00000).

k<i k>i

o0o000dp, 0 fOO000ODOODOODODODOOOO
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0000000 f(p) =¢:0000000O0OO
Calf) =Zop, Cy(f)=1{0} (jOODOD)

0000 f000000000000000000000 &0 00000Morsed
0 (Ci(f),0) 0000000
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000000 S?xS?00 MorseDOOODOOOMorselO0OO0ODO0DOO0OOOO
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(1400 Morsell 00O [

4.1 0OO0O00OO0OOOO0O0OO

00000000 MO MorseJODODODOOOO Ho(f, X)O MODODODOODODO
0000000000 00000 HM(M;Z,)00OO0DOMODO 20 MorseO O
goooobod

4.1.1 KunnethO OO

Kineth 0000000000000 000000000000000000
00000000000000000000 MorseDOODOOOOOOOOODOO
0D00000000000000000000000000000

U,VDZ,00000000000w00,0000000VO0000000
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0000 UOVOOOOOO000000000000000 ww®e,00000
00000U®VOOO0O0 Z,0000000000000000dmU®V =
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O000000000000000 (u,v) eUxVIOOODueOOOOZ, 000
goooboob z, 0000
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PRy UV UV’

0000
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0000000000000000
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C=(C, 00000000000 CO0Z,000000000000%,00
00 8°C; - C,, 000000008%08%,=000000000000000
g

ker 9f D imd,

goooobooooooogo
Hi(O):kerGiO/imﬁgl

DO0000H(C)=(H,(C)000co0o0ooooooon
00000000000000C=(C,,8°0 D= (D,,d°)0000000%Z,
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(CeD) = oD,
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gboooboooboon

0" =P (0° ®1+1®0°) : (C® D) — (C® D)y

it+j=Fk
0000 Z, 000000000
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411000000 00000

(D) = max{j | D; # {0}} —min{j | D; # {0}} +1

00o00o00oo0o0o0ooo0iD)=10000000 500000 D;,#{0}0
00000 D;0000 {o}0O0DbO00000O0

Hk(C & D) = kaj()(C) & Djo = Hk*jo(c) ® HjO(D)

000000KD)=10000000000000000
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0 D,0000{0}00008°=000000°=00000000000000
0oooooo
P =000000%P =9°®1000

Hi(C ® D) = Hy—jo(C) ® Djy, ® Hi—jy41(C) ® Dy
= Hk*jo (C) ® Hjo (D> SH Hk*joJrl(C) ® HjO*l(‘D)
ogoooo

G;Z:Djo—>Dj0_1DDDDDDDDDDDDDDDDDDH*(D):()DDDD
00000000000000 H(C®D)=0000O0OOOOOOO0OO

oD @ Dy ®Cit1®Djo—1 — Cii @ Dy @ C; @ Djy—4
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C®RD
0 keraH_jO 0O

8Z.C+‘5§£1 : Ci+1 & Djo D Ci+2 X Dj0_1 -0, ® Djo S¥ Ci+1 X Djo—l

D000D000000000md %Y, C kerd3? 0000000000000

ker 95° C im0 5P, 0000000C® Dy, ® Cipq ® Djy—y 000

ogp (Soteob Toirt ot ) <o
a b

00000000000
D o) @y =
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Y@L+ oS (u @ vt =0
a b

gobobooogbobogo 1®(0£)’1DDDDDDD

da eyl +> 00wt @ 00w =0
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gooooon
e oul =3 o) @ 0) ",

gogo

@Cgﬂl (Zuzﬂ (]0 17 > (Zx ®y ZuhLl JO 1>.

0000 kerd 5P cimd 2% 00 00H(C®D)=0000000

00 l(b)=2000000000p0OOOOOOOOD, 0 D;,.,000

Dj, _me@D

Jo?

Dj,—1 = 1m8D ® Dj,_,
0000000000000000
0— Dj, = Dj,—1 —0
0oo000
E:0—=kerd? B D) =0, F:0- D), >imd —0

00000000000 D=FaeFO0000CRD=CR(E®F)=CFE®CQF
0000CeDOO000O00OD00O000DO0OD0O0CE,CoFO00DO0O0O0OO
goboboobogbooobbuooobbuoobboboobbooobboooo
00000 CeDDOODOOODOOOODODODbDOOO
DOOOD(O00DOO0OO0DOODOOODOODOOOODOODODOOOO k41
gbooboobobobobboobuoobopobooboobo

0= Dyp1 2Dy — = Dy =0

Dy O Dy O
Diy1 =ker0® Dy, Dy, = imd & D;,

00000000000 ppgo0oooooooooooggooog
0 — kero —0

0 = Dj,, —imd—0
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MONOODOOOOODOOOOOMorseO DO fOg000O0ODO0OOOODOO
O0000000XOYDOSmaleDOODOOODOOOODOOODODOOOf+g
00000 MxNOO MorseJOOOODO(X,Y)O Smale0 000000 f4g
gobbobogogbooo

Crit(f 4 g) = Crit(f) x Crit(g)
000000/ (a,d) € Crit(f + g) = Crit(f) x Crit(g) 0000
Ind(a,a’) = Ind(a) + Ind(a’)

ogod
Crity(f +g) = U Crit;(f) x Crit;(g)
itj=k

0000 b,Y) e Crite1(f +¢) 0000 (a,¢)0 (b,¥)0 (X,Y)ODOODOD
O0000C000OD000X,Y)Oooooo Xoyoooooooooooo
HREEN

Lixy)((a,a),(d,V)) = Lx(a,b) x Ly(d,b)
D00000a#£b00d £ Y000 Lixy((a,d), (b)) 000000000
D000 Lixy((a,d), (b,4) 00000000000 Lx(a,b)0 Ly(d,¥)000
ogooo

Ind(a) > Ind(b) + 1, Ind(a’) > Ind(t') +1

gooooobooon
Ind(a,a’) = Ind(a) + Ind(a’) > Ind(b) + Ind(b') + 2 = Ind(b, V') + 2

00O00Ind(a,a) =k Ind(b,¥) =k—1000000000000a # 600
d #6000 Lixy((a,d),5,0)=00000 (a,a)0 (b,)0 (X,Y)DOODO
000000000000 0000000e=0b000d =¢00000000
0oo0ooO

R )

oooo
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ogood
00

®: P Cilf) @ Cil9) = Culf +9)
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Pla@a) = (a,d)
gooooobodben Zz,0000000DOODOOOOOODO

00 41.2 60000000000
(Cu(f) ® Cu(9), 0x @1+ 1® dy) = (Culf + 9), Oxv))
00000

00 00000000000000000000000000000000
0000000000000000000Oa e Crity(f) 0 o € Critj(g) 0000
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= > ax(@d)bd)+ Y ny(a,b)(a,b).

beCriti_1(f) b €Crit; 1 ()
gogoooo

Po(0x ®14+1®0y)(a®d)=0xy)oPla®d)
gdooedooobobooooobobo

0 4.1.3 (KinnethOOO) MO NOOOODODOOOOOOOOODOODOOOOO
ggooood

HMi(M x N;Zy) - @ HM;(M;Zy) @ HM;(M; Zs).
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4.1.2 Poincaré1 00
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00000000000O0X0O f0000000000000-X0 f0000
0ooo00o0ooo
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D00000000000000000000000000000

00 4.1.4 (Poincaré 01 00) 0000000000 MODOOO HM,_x(M;Z,)
0 HMy(M:;Z,) 0000000
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0421 00000000000O0O0OO MorseDOOOOOOOooobooonO
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O0000k>00000 «(f)>400000000n=dmMO00000O
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gboooog
gogoooo
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